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<1 B>
Vernacular language refers to the language used in daily conversations with friends and family

members. It is the language used with your lover and your pet dog.

<E2K%>

The opposite of vernacular language is standard language. Standard language refers to the

language used by people such as news announcers and sales clerks. It is the language used with

(1)strangers and in formal situations such as business meetings. It is also the language learned in

foreign language classes.

<EIEE>
How-oes-vernacular language differ from standard language? This question can be difficult to
How does
answer, (2)as even native speakers cannot easily explain it. The reason is that our decisions about
vernacular language—the language you use when chatting away with friends— (6)) place
below the conscious level. Compare talking to friends to writing an essay. When you write an essay,
you think about word choice, sentence voice and paragraph organization. When you write an essay,
you deliberately choose your language. In contrast, who thinks about such a thing when talking to

friends? You just say what needs to be said, and it all works out in the end. When talking with

friends, you choose your language without thinking. Because vernacular language _ (4)  without



conscious effort, it is not so easy to understand fully what it is.

<FE4EE>

Vernacular language has several important characteristics. Let us begin with an example from

English: the future tense marker be going to. Here is a list of the full range of variations for a

single sentence using the future tense marker be going to. _At the top is the standard,

written form. As you move down the list the form becomes more and more vernacular.

I am going to go now.

I'm going to go now.

I'm goin' to go now.

I'm gonna go now.

<ELEE>

Looking at this list, you can see that the more vernacular sentences are shorter. This is the

first important characteristic of vernacular language: It is shorter than standard language.

Now look at the list again, but this time focus on the words that (6)stay the same from one

line to the next. There are three of them: I, go, and now. In fact, these three words (7)contain the

entire meaning of the sentence, and although it is not correct grammar, the sentence, 1 go now,

has the same meaning as the sentences in the list. Even though the example sentences vary from

standard to vernacular, the meaning does not change. In other words, all the changes that take



place are in the structural parts of the sentence. This is the second important characteristic of

vernacular language: Almost all the differences between standard language and vernacular

language take place in the structural parts of the sentence.

A. Choose the best answer for each question and mark @, @, @ or @

(1) Which of the following can best replace (1) strangers
(Ddangerous persons
(@important persons
(3 suspicious persons

@unknown persons

(2) Which of the following usages of “as “ is most similar to (2) as ?

(DAs a lover of cinema, she was happy the old film could be saved.
(@As strong as he was, he could not lift the heavy stone.
(3 He did not attend the meeting as he had a bad cold.

@ My sister was almost as tall as my brother.

(3) Which of the following is the best choice for (3) ?

@ take
@ taken
3 taking
@ took

(4) Which of the following is the best choice for _ (4) ?

@ is used
@ is using
3 used

@ uses



(6) Which of the following can best replace (6) stay ?

(Ddistribute
@ remain
3 shape

®transform

(7) Which of the following CANNOT replace (7) contain ?

@ carry

@ constitute
@ ignore

@ ineluded

include
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(1) Which of the following is closest in meaning to (1) strangers ?
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D dangerous persons @ important persons

@ suspicious persons @ unknown persons

(2) Which of the following usages of “as “ is most similar to (2)as ?

(DAs a lover of cinema, she was happy the old film could be saved.
(2)As strong as he was, he could not lift the heavy stone.
(@ He did not attend the meeting as he had a bad cold.

@ My sister was almost as tall as my brother.
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<&FI>

This question can be difficult to answer, (2)as even native speakers cannot easily explain it.

Yras OmAE B
(1) HIEH as as 8B |HEELTY
(2) &8 as asS vV~
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1) I cannot go out, as it is raining hard. => HKF
2) Rich as she is, she is not content. s ED
3) She attended the meeting as an observer. = HiER & LT

4) AsIbegan to speak, there was knock on the door. = OT

5) Try to see things as they are. >89

6) Prices go up as the demand increases. = ONT

GIRE 1) 2024%F AHEE (ABQE) (5)

(4) Which of the following usage of “that “ is most similar to (4) that ?

<&EX>

One argument for why Al-produced art is not real art is (4)that it is simply a product of

calculations and mathematical formulas.

@ I saved money so that I could take a trip this summer.
@ Is that the man who owns the ice cream shop ?
@ That machine is so old and broken it cannot be repaired.

@ The reason for the team’s failure was that it did believe it could win.
6
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He was so kind that he showed me around London.
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I was in a hurry so that I catch the last train.
( FAX RAKBHICEDL 2O AV, )
I was in a hurry, so that I the train.
( RFTRWE,  TORE REIZOEHEIFE-T, )

E Ysuch (a-an) + JEEA)+ A thatSV ~ T&TH~LDOT / FTBEFE~
He is such a nice guy that he is liked by everyone.
(TINNR DR D TH ARG DIVTN D T ATRITAF DI H1E EWNNRDTE)

(2) BARERE: that (+ _FELEX )

%E that (S) V'~ (+ AL (S BV ~33 %@ |
I have a dog (that runs faster.) (Fx BEDIREZEH >TVD)
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<AKX>
that the young man dig away the hill (5) that blocks the view from the king’s window in eight days.

¥ block ®iF] ~%253< ~%XxED
(5) Which of the following usage of “that” is most similar to (5) that ?

(D I did not realize that he was angry.

@ That is the pen I was looking for.

@ Where is the letter that came from Jane this morning ?

@ William is the best student that I have ever taught.

(3) Which of the following is the best choice for _(3) ?
@ take

@ taken

® taking

@ took
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<&FNX>
The reason is [ that our decisions about vernacular language
S vVC S’

—the language you use when chatting away with friends—

3 place below the conscious level. ]
V’




(4) Which of the following is the best choice for _ (4) ?

@ is used
) is using
3 used

@ uses

<&FZ>

<Because vernacular language _ (4)  without conscious effort, >
S Vv’

it is not so easy to understand fully what it is.

(6) Which of the following can best replace (6) stay ?

(Ddistribute
@ remain
3 shape

®transform

<&FIZ>
Now look at the list again,

but this time focus on the words that (6)stay the same from one line to the next.

<tofttn3E L DORER >
woiEmERRIE v

(10) What does (10) it refer to ?

(D a grammar mistake in vernacular Japanese
(2 a mistake on your Japanese homework
(3 the correct way of speaking standard Japanese

@ the slightly different concept
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<AX>

The correct way of speaking standard Japanese is very clear to all native speakers.

Most Japanese speakers learned (10)it as a child.

BIzE 3) 2023F —WAMARAE (11)

(11) What does (11) they refer to ?

A few years ago, a group of cancer patients climbed Mt. Fuji. They had the goal of climbing Mt.
Fuji. They trained. Then , along with volunteers, (11)_they succeeded in climbing to the top of

the mountain.

(D cancer patients
@ old people
@ purposes

@ volunteers
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